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# Load the dataset

=None)

# Assign column names to the dataframe
'age'], ['workclass'], ['fnlwgt'l, |'education'], ['education-num'l, |'marital-]

' occupation'l, |'relationship'l |'race'l, 'sex'], |'capital-gain'l, |'capital ]
' hours-per-week'|, ['native-country'l |'salary']]

gender_counts = df[['sex'|]].value_counts()
print(/'Number of men:'|, gender_counts[[ Male']])
printl("Number of women:'l, gender counts[['Fenale'|])]

# 2. Calculate the average age of women

average_age_women = df[df[[ sex]] == [Female [][['age [].mean()|
print("Average age of women:'|, average age women)

# 3. Calculate the proportion of German citizens

german_citizens_prop = (df[|'native-country']] == ['Germany']).mean()
printl(("Proportion of Cerman citizens:'|, german_citizens_prop)

# 4. Calculate the mean age of those who receive more than 50K per year

'salary']]
].isin(education_levels).all()
high income education check




